## COUNTY OF MONMOUTH STATE OF NEW JERSEY

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY( MONMOUTH COUNTY CO-OP) F-103-2020

#### INCLUDES:

NOTICE TO BIDDERS
GENERAL CONDITIONS
EEO LANGUAGE
EEO QUESTIONNAIRE
BUSINESS REGISTRATION REQUIREMENTS
STATEMENT OF OWNERSHIP
IRAN DISCLOSURE FORM
AMERICANS WITH DISABILITIES ACT

NON-COLLUSION AFFIDAVIT
ADDENDUM ACKNOWLEDGMENT
BID DOCUMENT CHECKLIST
REQUEST FOR BID
ADDITIONAL SPECIFICATIONS (if any)
SIGNATURE PAGE
ANTI-DISCRIMINATION IN EMPLOYMENT

**AUTHORIZED: September 24, 2020** 

ADVERTISED: February 11, 2021

THOMAS A. ARNONE
DIRECTOR OF THE BOARD OF COUNTY COMMISSIONERS

MARION MASNICK
CLERK OF THE BOARD

TERI O'CONNOR
COUNTY ADMINISTRATOR

HELEN P. FIORE
DIRECTOR OF PURCHASING

NAME OF BIDDER: Lightle Enterprises of Of	ng Uc
ADDRESS: P.O. Box 329	
Frankfort, OH 45628	
Phone: 740-998-5363	_Fax: 740-998-5364

PLEASE INCLUDE ONE (1) UNBOUND ORIGINAL BID WITH SIGNATURE(S) AND TWO COPIES

---- This Is Not An Order -----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

## FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY( MONMOUTH COUNTY CO-OP)

RFB must be received no later than: Februar		February 24, 20	21 10:30AM		
For Delivery to:	Division of Engineering/ 240B Center Street, Bui				
Delivery Date:	90 DAYS AF	TER AWARD OF CONT	RACT		
ITEM#	DESCRIPTION		QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
POLYETH ORANGE SHALL ME STAMPEE THE BASE PRODUCT BRAND: P EQUIVALE Packagi MFG/Br Product	T#LIFEGARD II LG2-H46DO PLASTIC SAFETY SYSTEMS C ENT ng: 36/S/c// and: Carbon No:	S" ALTERNATING DE SHEETING. S. DRTION NEAR	50 EACH	67,00	3350,0 <sub>0</sub>
Variance	es, if any:		-		
ORANGE, WITH HIG WHITE BA 4 INCHES 4-INCH BA BELOW T SHALL MI STAMPEL PRODUC' BRAND: V EQUIVAL	000 200 1 H 1101	ORIDE (PVC), INCH REFLECTIVE BE LOCATED 3 TO INE WITH THE TELY 2 INCHES S. CONES.	1,000 EACH	1430	14300,00
Packag MFG/Br Product Varianc	and: 2025 7 cm w		- - - -		
PIECE HA WITH DIA PRODUC	D SLOW PADDLES, 18" X 18" ANDLE 72" (FROM GROUND), MOND GRADE SHEETING T # STSL-18DG GSHP-3MDG OR APPROVED	6" LETTERS	75 EACH	43/40	3255 <i>00</i>

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

#### FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY( MONMOUTH COUNTY CO-OP)

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if ar	LEO 251600 LEO 18810 SB - PVC			
4	USE WITH U-CH RESISTANT 1" S BIT, DG3 SHEET	VE PANELS, 3" WIDE X 72" LONG FOR ANNEL POSTS, INCLUDING 5 TAMPER EQUARE HEAD SCREWS AND DRIVER TING, PRODUCT # BSX-372 BRAND: APPROVED EQUIVALENT	30 EACH	13/72	41166
	Product No: Variances, if ar	3272 x, 0 fg 16-3			
5	USE WITH U-CH RESISTANT 1" S BIT, DG3 SHEET BRITESIDE OR A	TIVE PANELS, 3" WIDE X 72" LONG FOR ANNEL POSTS, INCLUDING 5 TAMPER QUARE HEAD SCREWS AND DRIVER TING, PRODUCT # BSX-372 BRAND: APPROVED EQUIVALENT LO I PK fr	30 EACH	13.72	411,60
	Packaging: - MFG/Brand: . Product No: Variances, if ar	450 3×72×1086 063			
6	FOR USE WITH TAMPER RESISTED DRIVER BIT, DG BRAND: BRITES	CTIVE PANELS, 3" WIDE X 72" LONG U-CHANNEL POSTS, INCLUDING 5 FANT 1" SQUARE HEAD SCREWS AND 3 SHEETING, PRODUCT # BSX-372 IDE OR APPROVED EQUIVALENT	30 EACH	13.72	411.60
	Packaging: - MFG/Brand: - Product No: Variances, if ar	3×72×2086 16-3			
	PANELS, 3" WID U-CHANNEL POS 1" SQUARE HEA	YELLOW GREEN (FYG) REFLECTIVE E X 72" LONG FOR USE WITH STS, INCLUDING 5 TAMPER RESISTANT D SCREWS AND DRIVER BIT, DG3 DUCT # BSX-372 BRAND: BRITESIDE EQUIVALENT	30 EACH	13,72	411,60

---- This Is Not An Order -----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

#### FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
•	Packaging: DIDKC  MFG/Brand: LG()  Product No: 3 172 1 1040 0 G 3  Variances, if any:			
8	"MEN WORKING AHEAD" 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: Variances, if any:	50 EACH	10200	5100,0 <sub>0</sub>
9	"FLAGGER (SYMBOL)", 48" X 48" (W20-7A) FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK, PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT Packaging: 509 MFG/Brand: 199-F-48 Variances, if any:	50 EACH	10206	5100,00
10	"ONE LANE ROAD AHEAD", 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT Packaging:  MFG/Brand: Product No: Variances, if any:	25 EACH	10200	256a 00
11	" LEFT LANE CLOSED ", 48" X 48" (WORDING) FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT	25 EACH	10200	2550,0 <sub>0</sub>

---- This Is Not An Order -----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

### FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING TRAFFIC SAFETY (MONMOLITH COUNTY CO-OP)

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging:	- - -		
12	" RIGHT LANE CLOSED", 48" X 48" (WORDING) FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT	25 EACH	10200	2554 <i>0</i> 7
	Packaging:	- - -		
13	"BE PREPARED TO STOP" 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERLGASS RIBLOCK PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT Packaging:  MFG/Brand: Product No: Variances, if any:	25 EACH	10200	2550,00
	"ROAD MAY BE FLOODED" 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK. PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: Variances, if any:	25 EACH	(02 <i>ce</i>	25500
15	LANE ENDS (W4-2R), 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT	25 EACH	10200	255400

---- This Is Not An Order -----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

# FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING

ITEM#	TRAFFIC SAFETY( MONMOUTH COUNTY CO-OP)  DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: <u>ダルタ</u> MFG/Brand: <u>MP }</u> Product No: <u></u> クリア-Чイ Variances, if any:			
16	LANE ENDS (W4-2L), 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT Packaging:    S   Bry     MO     Product No:   P4 F 4 F     P	25 EACH - -	10200	255000
17	Variances, if any:  ROAD CLOSED (W20-3) 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERLGASS RIBLOCK PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT	25 EACH	10200	2550,00
	MFG/Brand: MPT Product No: PYF-41 Variances, if any:			
18	"ROAD CLOSED AHEAD" (W20-1) 48" X 48"  FLUORESCENT ORANGE SUPER BRIGHT ROLL UP  SIGN WITH LEXAN POCKETS, WITH 48" FIBERLGASS  RIBLOCK  PRODUCT # SUPERBRITE ROLL UP SIGN  BRAND: ORALITE OR APPROVED EQUIVALENT  Packaging: 51600  MFG/Brand: 1012  Product No: 141-41	25 EACH	10200	255a07
19	Variances, if any:  "ROAD CLOSED LOCAL TRAFFIC ONLY" 48" X 48"  FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERLGASS RIBLOCK PRODUCT # SUPERBRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT	25 EACH	10200	2550,00

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

## FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY( MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 5/6/V  MFG/Brand: M01  Product No: 04-7-46  Variances, if any:	- - -		
20	"ROAD WORK AHEAD" (W20-1) 48" X 48"  FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # SUPERRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No:  Variances, if any:	25 EACH	10200	255q <i>U</i>
21	"BRIDGE CLOSED", 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # SUPERRITE ROLL UP SIGN BRAND: ORALITE OR APPROVED EQUIVALENT Packaging: 56/11 Product No: 945-43 Variances, if any:	25 EACH	10200	2550,00
22	VINYL SAFETY FLAGS, 24" X 24", 36" WOOD HANDLE COLOR: RED  Packaging: 24 (a for)  MFG/Brand: Safety Flag  Product No: SFKV24-36 TR  Variances, if any:	100 EACH	630	6301 <i>00</i>
		TOTAL:	63.98	1,40